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1 This distance—time graph shows Lisa’s coach
journey.
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her journey is shown in this graph. Jobul Thne
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Tamera’s journey starts at 8 am. - o < < I /
a  What is her average speed for the whole - ) oo h
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3 Mark sets off from home in his car at 2 pm. 4) 2 g~ + Z .30 f~

He stops to get petrol and then continues on

his journey.
Mark returns home later in the afternoon.
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a Between which times was Mark - ° »
a

travelling fastest? Explain how you know. A > 0? ( b5t &'e ’A e CAO&
b What was Mark’s overall average speed s

on the outward journey? 6L<f €'¢C° r< towmimm j L“ <
¢ What was Mark’s average speed on the

homeward journey?

d  The gradient of the line after 4 pm is
negative. What does this tell you about

the velocity? V. owroyras

4  The velocity—time graph shows information 6\) é }"\/ e
about a runner in a race.
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a What is the speed at 12 seconds?
At what times is the speed 6 m/s? -rr apez V-
What is the acceleration during the first A - ( "\f“_’é) % (.\
second? ree <
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The diagram shows a velocity—time graph.
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What is the acceleration between 3 and L ,4 ree uvaler Srop L
5 seconds? C q )
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What is the distance travelled between = X 2
3 and 5 seconds? R
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What is the overall distance travelled? —
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